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logarithmic La-data
La = ( Ro • Go )0,5

log La = ( logRo+ logGo)/2
log [ La, Ro, Go ]

uλ = (λ − 555) / 50
logRo = −0,35[uλ−u520]2
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logarithmic La-saturation
La = ( Ro • Go )0,5

log La = ( logRo+ logGo)/2
log [Ro/La, Go/La ]
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logarithmic Ma-data
Ma = ( Oo • Co )0,5

log Ma = ( logOo+ logCo)/2
log [ Ma, Oo, Co ]

uλ = (λ − 555) / 50
logOo = −0,35[uλ−u495]2

logCo = −0,35[uλ−u595]2
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logarithmic Ma-saturation
Ma = ( Oo • Co )0,5

log Ma = ( logOo+ logCo)/2
log [Oo/Ma, Co/Ma ]

uλ = (λ − 555) / 50
logOo = −0,35[uλ−u495]2

logCo = −0,35[uλ−u595]2
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logarithmic Ga-data
Ga = ( Lo • Bo )0,5

log Ga = ( logLo+ logBo)/2
log [ Ga, Lo, Bo ]

uλ = (λ − 555) / 50
logLo = −0,35[uλ−u470]2

logBo = −0,35[uλ−u570]2

Adaptation: λLB=520
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logarithmic Ga-saturation
Ga = ( Lo • Bo )0,5

log Ga = ( logLo+ logBo)/2
log [Lo/Ga, Bo/Ga ]

uλ = (λ − 555) / 50
logLo = −0,35[uλ−u470]2

logBo = −0,35[uλ−u570]2
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logarithmic Ca-data
Ca = ( Mo • So )0,5

log Ca = ( logMo+ logSo)/2
log [ Ca, Mo, So ]

uλ = (λ − 555) / 50
logMo = −0,35[uλ−u445]2

logSo = −0,35[uλ−u545]2

Adaptation: λMS=495
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logarithmic Ca-saturation
Ca = ( Mo • So )0,5

log Ca = ( logMo+ logSo)/2
log [Mo/Ca, So/Ca ]

uλ = (λ − 555) / 50
logMo = −0,35[uλ−u445]2

logSo = −0,35[uλ−u545]2

Adaptation: λMS=495
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logarithmic La-data
La = ( Ro • Go )0,5

log La = ( logRo+ logGo)/2
log [ La, Ro, Go ]

uλ = (λ − 555) / 50
logRo = −0,35[uλ−u520]2

logGo = −0,35[uλ−u620]2

Adaptation: λRG=570
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logarithmic La-saturation
La = ( Ro • Go )0,5

log La = ( logRo+ logGo)/2
log [Ro/La, Go/La ]

uλ = (λ − 555) / 50
logRo = −0,35[uλ−u520]2

logGo = −0,35[uλ−u620]2

Adaptation: λRG=570
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logarithmic Ma-data
Ma = ( Oo • Co )0,5

log Ma = ( logOo+ logCo)/2
log [ Ma, Oo, Co ]

uλ = (λ − 555) / 50
logOo = −0,35[uλ−u495]2

logCo = −0,35[uλ−u595]2

Adaptation: λOC=545
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logarithmic Ma-saturation
Ma = ( Oo • Co )0,5

log Ma = ( logOo+ logCo)/2
log [Oo/Ma, Co/Ma ]

uλ = (λ − 555) / 50
logOo = −0,35[uλ−u495]2

logCo = −0,35[uλ−u595]2

Adaptation: λOC=545
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logarithmic Ga-data
Ga = ( Lo • Bo )0,5

log Ga = ( logLo+ logBo)/2
log [ Ga, Lo, Bo ]

uλ = (λ − 555) / 50
logLo = −0,35[uλ−u470]2

logBo = −0,35[uλ−u570]2

Adaptation: λLB=520

    −3,1 −1,1   0,9   2,9   0,0

555400 500 600 700
−2

−1

  0 Threshold
Sa=0,025
log Sa=−1,6

 
 TN301−6N

470 520 570

λ /nm

u

logarithmic Ga-saturation
Ga = ( Lo • Bo )0,5

log Ga = ( logLo+ logBo)/2
log [Lo/Ga, Bo/Ga ]

uλ = (λ − 555) / 50
logLo = −0,35[uλ−u470]2

logBo = −0,35[uλ−u570]2

Adaptation: λLB=520
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logarithmic Ca-data
Ca = ( Mo • So )0,5

log Ca = ( logMo+ logSo)/2
log [ Ca, Mo, So ]

uλ = (λ − 555) / 50
logMo = −0,35[uλ−u445]2

logSo = −0,35[uλ−u545]2

Adaptation: λMS=495
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logarithmic Ca-saturation
Ca = ( Mo • So )0,5

log Ca = ( logMo+ logSo)/2
log [Mo/Ca, So/Ca ]

uλ = (λ − 555) / 50
logMo = −0,35[uλ−u445]2

logSo = −0,35[uλ−u545]2

Adaptation: λMS=495
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TUB-test chart TN30; colour vision and colorimetry 
cone sensitivity and saturation for distance ∆λ=100
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